TFALp.2~3

FELEZE
(. )
=& - Is it going to rain? Which ball is bigger?
I’m not sure. I hope not. My ball is bigger.
What happened? My ball is the biggest.

I’m not sure. My kite was
under the tree. Now it’s in

the tfree.
\_ J

RCIBIIT1ETA

FELE—HBICENTETT EFE T 5, N2 R T, Isitgoingtorain? Efcdad, F
EE1E I'mnotsure. I hope not. E B A HD. HHWIZTDROXRRUCE>TEREZT 5,
R, BRETRZEDMOBARDRICO >HBD2>fesUET B, FEEHNP O TRTERF
x RISHS. What happened? & BRE9 4, {REEZE|E I'm not sure. My kite was under the
tree. Now it's inthe tree. &5 A %, MHAETICHAINEY T AF ¥ —TCnd, R, KE
EOEBZAR—IVE 3I~5BED. KREETZEANL, TNTHR—/LZE 1 DI DFICL
‘). Which ballis bigger? & 7312 %, Myballis bigger. ¢ EZ %, mEKEFTR—)V AR
> CWNB AD My ball is the biggest! & & 5.

HoLfmmELTcLWNEE

AH/EACD D02

FEEHHTESRTLE FEEANDAy—
| mAREHESHE TR, (1)

TR CH 2 & REEA RS, Good job! That was greg‘r!
. FCTEE LI LA

f AINEET 2T DOHhEEET 1l
| ' EES, Good try.
- HLL
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Uni’f1 HOW MuCh FOOd?

TF+Ab p.4~5
FELEZE
SEE Is everything ready for How many cans of soda are there?
the party? Are there There’s only one can.
enough pretzels? How many cans do we need?
I think so. We need twelve cans.
BXED a can of tomatoes (~ < b 1 ), cans of beans F{HEDEDEHE),
a bag of potato chips (R 7~ F v 7 X 1£R), bags of pretzels (£%
LD T vy 1)), abottle of water (7K 1 #i), bottles of soda (£%
#RDY — ), a piece of pizza (K1 1 Y1), pieces of watermelon
ETINDRAA 1)
KCIB/IT1ETA

FE % &E—HEIT One Piece of Pizza ZH D, &/ \— b ZRXBTH: D, LEEDBNED%
EDTHZ BRI 5, Howmany (cans of tomatoes) are there? & &R L. Thereis (one
can). £ 1zl& There are (three cans). & B A %, I\—T 1« —Z%5tHEI L. AIHDKEHEFCHE
TH D, Arethereenough (pretzels)? &'ERI L. Ithink so. There are (three) bags. & & Z %

% /z. Dowe haveany (soda)? B L. Yes, wedo. &A%, Howmany (cans of soda) are
there? E'ERI L. There’s (onecan). £ & A %, How many (cans of soda) do we need? & &
L. Weneed (twelve cans). - EZ %o

EHoLfmELichNEE

T—207v p.2~3 4 4EFE CD @D 03~05

FEBLHTERTL FEEADAYE—D
[ | BREOPHRBEDOHTNBENE S

DE TR,
|| BEEs THBESSDT,

One Piece of Pizza &5,
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TF+Abp.6~7
FELfE
s )
SEE There are a lot of nuts. Are there a lot of cookies?
There are a few cupcakes. Yes, there are.
No, there aren’t.
BRXEDDE . alotof nuts (fc < TADF v V), afewnuts (D LD F YY),
a lot of cupcakes (fe < TA DA v 74 —F), afew cupcakes
D LD T4 —F), alot of blueberries (fc < TAD T IL—N
1) —), a few blueberries (4> LD 7 /L—~1J) —), a lot of cherries
L (fTe < TADY T = >7R), afew cherries (D LD = >/ R) )
XCIBDTI7T71ETA

FEEE—HETIN—T 1 —EFTET D, /\—T 14 —THLELWBRXEDD! X~ —iE
ICED. RIT. VA MIEDNCBRNEDHOEGAAICH AN E DD ", FELITANE
5, FEEIT Arethere alot of (cookies)? EBRIT 5, FEEILT v F—HFAXNT Yes,
there are. There are a lot of (cookies). & 1z|& No, there aren't. There are a (few) (cookies). & 2
ABe FTEBICTETELRBNEDAEBFOT—JIVICENE D, KB TCERILIY.
TNCEZATEV T 5, TDdhé. FELE—HEIT. N—T4—BICEO2REDHLHEN
HOD) X bZEY . BEWLMDICTT <,

EHoLfmELicLhNEE

T—207v7 p.4~5 A EA CD D 06

FEEHLHOTESBTE FEEADAYE—
| aREOD&FTH DD B,

BRXEDDEICOVWTERB L.
TNUCEZ B,

alotof & afew ZfES,
there Z > Ch\%,

© Oxford University Press. Permission granted to reproduce for instructional use. Let’'s Go 4e Level 5



FE2Z p.8~9

FELfccE

4 )
=EE How much fruit is there?
There is a lot of fruit.
How much pie is there?
There is a little pie.
ENTESY) - a lot of pudding (T TAD T 7 « > 77), alittle pudding
(D LDTT 4 >4), alot of fruit (fo < T ADEY), a little
fruit (D L DRY)), a lot of lemonade (f7c < TAD L EX—
), a little lemonade () LD L E % — F), a lot of pie (fz<
ThDINA), alittle pie (D LD/ 1)
\_ J
RCIB7IT1ET4

FEEHE—HEITIsTherealotof Milk? DF v 2V EE S, F/IN— b ERXBTED, &
LICTEFBLUORDFHL SR E /A HIREL S, FEEIT How much fruit is there? &

BT 5, FE X Thereis (alot of) fruit. F 1z|& Thereis no fruit. & X %, XIT. How
much pie is there? E BRIT 5, FE &1 Thereis (alittle) pie. & 1z& There is no pie. & & A
%o MWBLHBNEDE—FEICEWNTITL,

HoLfmELTc LN EE

=0TV p.6~7,74

H£4EFE CD D 07~08

FELHTERTL FEEADAYE—Y

BXEDDEZEWVDSDT,
alotof & alittle &£ >,

there Z{#> TIN5,

Is There a Lot of Milk? DF v >/

 WEES,
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FEZ p. 10~11 Phonics
FELETE

r%gg : dinosaurs (&), millions of years ago (35 5 5E/1), b
plants (&%), meats (&), reach (~(Z/E <)
T4 v RX: mb (climb, comb)—mp (jump, lamp)
kié%d) L<H: long + er, short + er, tall + er p
XCIB/I7T1ETA

FELE—HEICEBED mb £cld mp DEFEEZE OHMEZT 5, FEDITHLWEEE
HEL(ERZHATE S, ZBOXRFIZHEIT DR LG, FE& E—HEICERR
CD M Dinosaurs DEtE&xE <, RIT. FEHIT Dinosaurs DECEZREE & —HEICEHRE
CEEEND B BBNMAIZBNTWDOH. ETIHFATWZDDL, EDOKDETED
TECONMCDWVWTEET, ARFIC er DT TH LWEEBEAERFEE R T 5,

EHoLfmELichNEE

J—277v7 p.8~9

£HEFH CD D 09~10

FELHTERTL FEEADAYE—Y
FBED mb LTzld mp DEEE

TEE Do

FLWEEBEOEMKZ AT

%o

Dinosaurs Z{R5&& & —H&(C

F 5,

R er & DIF CH LWE

EEEDo
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